

INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025 Notification No: 1898

AEC25n: Entrepreneurship Development IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC16n: Professional Ethics & Human Values

Sr.No	Roll No.	Name of Student	AEC25n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC16n	SGPA	тс	Failed
JI.NU	HOII NO.	Name of Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JUFA	10	Courses
1	24/IMSECO/01	AANYA DHAMIJA	A+	A+	0	0	B+	A+	A+	9.00	22	
2	24/IMSECO/05	ISHAAN GANI KHAN	B+	Α	В	В	В	A+	Α	5.85	22	
3	24/IMSECO/26	ALANKRITI VARSHNEY	Α	0	Α	A+	B+	A+	0	8.64	22	
4	24/IMSECO/29	ANMOL	B+	Α	Α	B+	B+	A+	Α	7.64	22	

AEC13n: Logical Reasoning IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC16n: Professional Ethics & Human Values

Sr.No	Roll No.	Name of	AEC13n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC16n	SGPA	TC	Failed Courses
JI.NU	noii No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JUPA	10	Falled Courses
5	24/IMSECO/02	ANIRUDDHA MITRA	Р	Α	F	С	F	A	В	4.00	14	IMSHU104n IMSMA108n
6	24/IMSECO/08	MAYANK RAAJ SINGH	Р	B+	F	С	F	Α	Α	4.00	14	IMSHU104n IMSMA108n

AEC21n: Tinkering Studio & Elements of Design IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet

OIC (Results)



INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025 **Notification No: 1898**

Sr.No	Roll No.	Name of Student	AEC21n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	SGPA	TC	Failed
31.140	Holl No.	Name of Student	2.00	4.00	4.00	4.00	4.00	2.00	JULA	10	Courses
7	24/IMSECO/03	AYUSH BHARDWAJ	В	Α	В	С	С	Α	6.20	20	
8	24/IMSECO/04	DHEER KAPILA	Α	Α	F	В	В	B+	4.58	16	IMSHU104n

IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n:

Mathematics-II ISEC112n: Excel Spreadsheet

ı	Sr.No	Roll No.	Name of	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	SCDV	TC	Failed
	31.140	Holi No.	Student	4.00	4.00	4.00	4.00	2.00	SGPA	10	Courses
	9	24/IMSECO/06	KANAK NAGPAL	A+	A	A+	B+	A+	7.50	18	

AEC4n: Business Communication and Presentation Skills IMSAC108n: Basic Chemistry - 2 IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II ISEC112n: Excel Spreadsheet VAC27n: Introduction to Environmental Science

	Sr.No	Roll No.	Name of Student	AEC4n 2.00	IMSAC108n 4.00	IMSHU102n 4.00	IMSHU104n 4.00	IMSHU106n 4.00	ISEC112n 2.00	VAC27n 2.00	SGPA	тс	Failed Courses
Ī	10	9///MSECO/00	MEERAB ALI KHAN	B+	Α	A+	A+	Α	A+	В	8.18	22	

STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC19n: Science & Practice of Happiness

OIC (Results)



INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

Cr N	Roll No.	Name of	AEC25n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC19n	SGPA	TC	Failed
31.10	Sr.No Roll No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SUFA	10	Courses
11	24/IMSECO/10	MISHIKA SAHARAWAT	Α	A+	F	B+	С	A +	Α	5.15	18	IMSHU104n

AEC21n: Tinkering Studio & Elements of Design IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC27n: Introduction to Environmental Science

Sr.No	Roll No.	Name of	AEC21n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC27n	SGPA	TC	Failed
31.140	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	Courses
12	24/IMSECO/11	MISHTI GUPTA	Α	0	Α	0	B+	A+	С	8.36	22	

AEC13n: Logical Reasoning IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSHA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC27n: Introduction to Environmental Science

Sr.No	Roll No.	Name of	AEC13n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC27n	SGPA	TC	Failed
31.110	HOII NO.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JUFA	10	Courses
13	24/IMSECO/12	NAITIK JAIN	B+	A+	0	0	A+	A+	B+	9.00	22	

AEC10n: German IMSAC108n: Basic Chemistry - 2 IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II ISEC112n: Excel Spreadsheet VAC27n: Introduction to Environmental Science

OIC (Results)



(Formerly Delni College of Engineering

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

Sr.No	Roll No.	Name of	AEC10n	IMSAC108n	IMSHU102n	IMSHU104n	IMSHU106n	ISEC112n	VAC27n	SGPA	TC	Failed
31.140	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses
14	24/IMSECO/13	NISHU	Α	A+	A+	Α	Α	A+	B+	8.36	22	
15	1 2/1/11/15/2017/19	SHAURYA CHHABRA	Α	B+	A +	0	A+	0	B+	8.64	22	

AEC13n: Logical Reasoning IMSAC108n: Basic Chemistry - 2 IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS III IMSHU106n: STATISTICS FOR ECONOMICS II. ISEC112n: Excel Spreadsheet VAC12n: NCC

II IIVISI IO	TOOH. STATISTIC	JO I OIT LOOK	JIVIIOO II IOL	CTTZIT. EXCELOPI	eausileel VAC12	11.1100						
Sr.No	Roll No	Name of	AEC13n	IMSAC108n	IMSHU102n	IMSHU104n	IMSHU106n	ISEC112n	VAC12n	SGPA	TC	Failed
31.110	Sr.No Roll No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JUFA	10	Courses
16	24/IMSECO/14	RAO YUG	B+	С	Α	В	В	A+	Α	6.73	22	

AEC18n: Spoken Skills in English IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC16n: Professional Ethics & Human Values

Sr No	Poll No	Name of	AEC18n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC16n	SGPA	TC	Failed
31.110	Sr.No Roll No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JUFA	-	Courses
17	24/IMSECO/15	RAUNAK RAJ	Α	Α	В	С	В	A+	Α	6.82	22	

AEC25n: Entrepreneurship Development IMSAC108n: Basic Chemistry - 2 IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II ISEC112n: Excel Spreadsheet VAC16n: Professional Ethics & Human Values

OIC (Results)



(Formerly Deini College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

Sr.No	Roll No.	Name of Student	AEC25n	IMSAC108n	IMSHU102n	IMSHU104n	IMSHU106n	ISEC112n	VAC16n	SGPA	тс	Failed
31.140	HOII NO.	Name of Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses
18	24/IMSECO/16	RONAK KUMAR SINGH	B+	Р	Α	В	С	Α	B+	6.18	22	
19	24/IMSECO/25	VIPRANSHI SINGH	Α	B+	A+	B+	A+	0	A+	8.27	22	
20	24/IMSECO/30	ADITYA KUMAR JHA	Α	В	A+	В	В	A+	Α	7.18	22	

AEC4n: Business Communication and Presentation Skills IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS III IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC27n: Introduction to Environmental Science

Sr.No	Roll No.	Name of Student	Name of	Name of	AEC4n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC27n	SGPA	тс	Failed
31.140			2.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA		Courses		
21	24/IMSECO/17	SAUMYA GUPTA	B+	A+	B+	B+	B+	A+	С	7.36	22			
22	24/IMSECO/21	TAVISHI KAPOOR	A+	0	A+	A+	Α	A+	B+	8.82	22			
23	24/IMSECO/22	VAISHNAVI MISHRA	В	A+	F	Α	F	A+	B+	6.55	14	IMSHU104n IMSMA108n		

AEC13n: Logical Reasoning IMSAC108n: Basic Chemistry - 2 IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II ISEC112n: Excel Spreadsheet

Sr.No	Roll No.	Name of	AEC13n	IMSAC108n	IMSHU102n	IMSHU104n	IMSHU106n	ISEC112n	SGPA	TC	Failed Courses
31.110	HOII NO.	Student	2.00	4.00	4.00	4.00	4.00	2.00	JULA	10	Falled Courses

OIC (Results)



INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025 **Notification No: 1898**

24	24/IMSECO/20	SHUBHAM	С	F	A	F	B+	A+	4.00	12	IMSAC108n IMSHU104n
----	--------------	---------	---	---	---	---	----	----	------	----	------------------------

AEC25n: Entrepreneurship Development IMSAC108n: Basic Chemistry - 2 IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR FCONOMICS II IMSHI 1106n STATISTICS FOR FCONOMICS II ISFC112n Excel Spreadsheet VAC19n Science & Practice of Happiness

LOCIVOIV	Solvering in injection of the content of the conten												
Sr.No	Roll No.	Name of Student	AEC25n	IMSAC108n	IMSHU102n	IMSHU104n	IMSHU106n	ISEC112n	VAC19n	SGPA	тс	Failed Courses	
			2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	'		
25	24/IMSECO/23	VANSHIKA SINGH	Α	F	Α	F	Α	A +	Α	5.18	14	IMSAC108n IMSHU104n	

AEC13n: Logical Reasoning IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC12n: NCC

Sr.No	Roll No.	Name of Student	AEC13n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC12n	SGPA	тс	Failed Courses
31.110			2.00	4.00	4.00	4.00	4.00	2.00	2.00	JUPA	2	Falled Courses
26	24/IMSECO/27	ABHINAV POONIA	Р	B+	F	F	F	A +	B+	3.09	10	IMSHU104n IMSHU106n IMSMA108n

AEC18n: Spoken Skills in English IMSHU102n: INTRODUCTORY MACROECONOMICS IMSHU104n: MATHEMATICAL METHODS FOR ECONOMICS II IMSHU106n: STATISTICS FOR ECONOMICS II IMSMA108n: Mathematics-II ISEC112n: Excel Spreadsheet VAC5n: Emotional Intelligence

OIC (Results)



(Formerly Delhi College of Engineering)

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

INTEGRATED DEGREE (Sciences)(ECONOMICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025 **Notification No: 1898**

Sr.No	Roll No.	Name of Student	AEC18n	IMSHU102n	IMSHU104n	IMSHU106n	IMSMA108n	ISEC112n	VAC5n	SGPA	тс	Failed Courses
	Holl No.		2.00	4.00	4.00	4.00	4.00	2.00	2.00	Jura	10	Failed Courses
27	24/IMSECO/28	PALLAV PRAJAPAT	A+	Α	F	B+	F	A+	A+	5.18	14	IMSHU104n IMSMA108n

OIC (Results)